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(1) The capital of the merchant exchanges the surplus produce of one place
for that of another, and thus encourages the industry, and increases the
enjoyments of both.

(2) Had his abilities been equal to his disposition, he would have made a
very good king; but the weakness of his conduct rendered him

contemptible.

(8) Free as he was in meeting people, and easy as the poorest and plainest

men were in his presence, he invited no cheap familiarity.

(4) All England was kept in continual alarm ; nor dared the people of one
part to go to the assistance of another, lest their own families and

possessions should be exposed to the fury of the ravagers.
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